SUGATSUNE

35

STAINLESS

Zweil Handle Sie| ZL-2002
I
>
« Includes 1-3/16" long stainless steel screws (M5 x 30). %
-
m
(7]
o
c
-
r-
(7]
L 16 Qo
(5/8")
: ‘ 1 10 2
\
S B (3/8")
/ ; | I O
J i
25 »
‘ | i
[ ] |
|
N
‘ c 2-M5 x 0.8 E
Depth 12 [}
-
ltem No. Material Finish/Color L (03 Weight (g) Box (pcs) §
ZL-2002-96 106 96 ( 3-25/32") 165 12 >
ZL-2002-128 138 128 ( 5-1/32" ) 194 12 (w]
ZL-2002-160 ) . 170 160 ( 6-10/64" ) 233 12 r-
1 | | Zwei L
ZL-2002-192 316 Stainless Stee wel 202 192 ( 7-9/16" ) 265 6 m
ZL-2002-256 266 256 ( 10-5/64") 332 6 w
ZL-2002-320 330 320 (12-19/32") 395 6
- STAINLESS
316 -
Zweil Handle Base sis| ZL-2301
) o Gasket Base Plate (016) Base Plate (025)
! —-—Satin Finish —-- Satin Finish
’ 7 L 1
s 8 o S=
¢ |
. =8
L \ 20 (14)— 18 (155
& (25/32", 9/16")
\ : — 1(1/32") Screw Mdx16 Screw M5x16
e P
; 211.2
—~010 = (25/64") (7/16")
—-— Satin Finish ol —-— Satin Finish ”g
= I° e
i ls 5 ig
M4 '@ Ig M5/ .
Plate/Screw Set for Handle (M4)
Item No. Part Name Material Finish/Color Plate/Screw Set for Handle (516)
Screw (M4 x 16) Stainless Steel Zwei L Item No. Part Name Material Finish/Color
ZL-2301-2016 | Base Plate (216) | 316 Stainless Steel Zweil L Screw (M4 x 16) Stainless Steel Zwei L
Gasket (214) Elastmoer Plain ZL-2302-1916 | Base Plate (216)| 316 Stainless Steel Zwei L
Gasket (214) Elastomer Plain
*2 each of screws, base plates, and 4 gaskets included.
*2 pieces each included
Plate/Screw Set for Handle (M4) Plate/Screw Set for Handle (225)
Item No. Part Name Material Finish/Color Item No. Part Name Material Finish/Color
Screw (M5 x 16) Stainless Steel Zwei L Screw (M4 x 16) Stainless Steel Zwei L
Base Plate (225) | 316 Stainless Steel Zwei L Base Plate (225) | 316 Stainless Steel Zwei L
ZL-2301-202 ZL-2302-192
301-2025 Gasket (214) Elastomer Plain 302-1925 Gasket (214) Elastomer Plain
Gasket (220) Elastomer Plain Gasket (220) Elastomer Plain

*2 pieces each included.

www.sugatsune.com

1 -80(0-562-526 7

U.S.A. Only)





